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21)=v9 EHRE L B+EE 2 5+VIO 2 5+EE+VI0 VIO i
TS50 =99 — — 75,900 218,900M — —
IZFILDI=9D 68,200M 129,800M 68,200M 129,800M — —
HMEERIY=YY 6[a]:77,400MH — — 6[a]:155,700M 6[a]: 54,000H 6[a]: 48,000
oamol=vy 327,800H 412,500M 412,500M 481,800M 77,000H 77,000H
TCBREHRERNF 198,000H 298,000 298,000M 389,000M 48,000M 102,000M
BWARD)=vY 189,050M — — — 1[8]:9,900H 1[E]:9,900H
BATAHILG) =D 170,000 200,000H 200,000M 245,000 50,000H 50,000H
HENDESFE — — — — 88,000M 88,000H
RKFEHI=vD — — — — 1[=]: 6,600 1[=]:11,000H
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